g Al A

A
=

Ol &b A

Al

2N

m ©
) & < s || =
AL :
, = ¥ |5 | :
i q
= ” z,
H o | O (@)
Y]
2 3 3
g 3 glelelg
LHZEr o 3 MAM,% .
war | & 5 2lslel=z 3
I_._.A._ = rD, 22”4 - o
. o S o | O
RIS 5 0 | T
y B S 18 o | O
P I
N~
© O O
607%400
8 S < | N
kbR LR
- %mm&%m8o,1,1,1,9,9mm0%m999
. ol [aN] — ™M | © SR [ d > y090555000
ar o ) | N O o T Q= s 2 Sog e R 258
(ap) - [aV) ~ = y g S < :
: 1k , . s 411m4n/._4l > > vOOOOOOOOO
.Al_ 9 6550& 5 yﬂNOPO%OO%OOO
= 2 QS S ww 007%%0%%000
s o rzmwoowmmm
> > 4 [e\]
B W H
or
&)
A
. ]
: ) ;
: 0 :
I . : mo
=z ,,Ho *
. p ¢ ulo =
Kr e : :
= w : : |
__MM :I:W ) M m,
B 80 ﬁﬂﬂ 5 :
: : b2 ° B ur pi
; 0f ST = i u | x
ol Al oo - - n 2 __AT
. __ B 2 2 : 0 < b o
wl i) = M.Au uJ @ U o> =2 x : : L
T = i ;i 5 :
R | = D |Wm e U@ B O 3 R = 2 : : 2
. : 1E m_._u g ™~ ~ O = 2 o : o HE
z |® =R < O O R O = 3 ¥ 3 x 2282
| | : : D : i s 2 NEEERE:)
| : 9| _ |3 = K| KF O
A |z S __HOODHL& D_.HH_:A_.
0l al fle : it
5 S| < O |Rr
mo %3 <
QR |° &

al




2N
X ZH -
L= B

el

TEnbll R
W40 ES o MRS 29
OlE DI MEHERSY

== gywn)

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
206 M= Hl 70,000 60,000 10,000
01 X2 bl 70,000 60,000 10,000

OXANMS2Y 40,000
OFAIMSAS T2 (MAI2 ZE) 30,000
207 AT OH 2] 30,000 25,000 5,000
03 A& b 30,000 25,000 5,000
OARHEI| XL 25,000
OFAHESAEZT 2 5,000
401 Al B 20 HI 50,000 0 50,000
01 A& HI 50,000 0 50,000
OMEIME2IAMMEANAE RS 20,000
O=0I/0tHE=X M & 20,000
OBEXE=ZEL22 10,000
W= 7,510,763 4,400,714 3,110,049
= 3,500,000
= 318,370
& 3,692,393

MAD|BLA| & = 30,000 20,000 10,000
401 Al HI YL 2 0HHI 30,000 20,000 10,000
01 A& HI 30,000 20,000 10,000

e DHYsRE2 30,000

ANEATZTHSHY 94,000 58,000 36,000
201 et A | 41,000 20,000 21,000
01 AFR2t2l Yl 6,000 5,000 1,000

Ogst=gH| 6,000
OANEAZANEEDNER 6,000
02 3524t 35,000 15,000 20,000
[RE=3s]] 30,000
OANEAZAHSII2AZ I 30,000
O XtgF & eyl 5,000
OANEAZTHESHE XSS Xl 5,000
202 (4] 6,000 6,000 0
01 2L Y] 6,000 6,000 0
OMNEAZTHSMHEH AL IHE & & O HI 6,000
207 A FOH ] 45,000 30,000 15,000
03 A& o 2| 45,000 30,000 15,000
OAMEAFZE2HS DI ZTIIAME 10,000
OAMEHARSHOI DI 7 30,000
OANEARZI| X2 5,000
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405 RHoHE S HI 2,000 2,000 0
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O82LIAEAN 2,000

SR 566, 150 313,514 252,636
& 318,370
< 247,780

101 @14l 3,300 3,264 36
& 2,640
< 660

04 D12t 22 EE = 3,300 3,264 36
O EZE2e022(01Y) 3,300
&2 2,640
< 660

201 L-2EH| 63,600 56,000 7,600

01 At 22/l 5,600 5,000 600
O Yet=E | 3,000
O3z d2E=sEH| 3,000
o=l 2,600
OEEZRERHE= 2,600

02 =224l 55,000 48,000 7,000
OHZHI 51,000
(OF3=5 Fig= P E =g k=] 46,000
Ox=EAI|J1H =4l 5,000
Oxt&det] 4,000
OEsgsFUHL 2l 4,000

03 A2 Z Hl 3,000 3,000 0
OdSUAESERLFHA 3,000

202 oddl 13,250 17,250 A 4,000
& 6,700
< 6,550

01 = LH o4 1l 13,250 17,250 A 4,000
ONSSRUMS0A=MIATIAIEX & 2,000
OEMHBSHELEZ(01) 11,250
& 6,700
< 4,550

206 TH 2 HI 107,000 112,000 A5,000
& 69,008
= 37,992

01 MHZ 8l 107,000 112,000 A5,000
O=JIMz+e 25,000
OUHLEANSEIHLUAZ(012) 52,000
= 47,008
< 4,992
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T = o =

S WS TY (22 &d)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
202 O 4l 5,000 5,000 0
01 ZLHOHI 5,000 5,000 0
OES0JASdEAE FA 5,000
FAFXE= 456,704 413,128 43,576
BNFAE = 456,704 413,128 43,576
101 1248l 20,416 18,374 2,042
04 DIt 22 XS+ 20,416 18,374 2,042
OFMZZ 2L +-SHXARLY
40,8303 x3H 50 6,125
OEAMBILYRHERSSY
40,830 *10& 35 14,291
201 fEt2E | 270,500 270,500 0
02 3224l 270,500 270,500 0
OEZEsZAA 201,000
OxJIdNs = 180,000
oIt sl Atz 16,000
OdstxzeE+NdltAz 5,000
O¢=Hl 8,000
(OF=pN=3-15:] 8,000
O A2 &l =X H 55,000
OA=ESLASIDIERNES 50,000
O=4J, E2JNHHRFULEEIRX 5,000
WP Rab ] 6,500
OZEXNERFUHL 22| 5,000
OS2SR 1,500
301 et a= 5,788 16,254 210,466
09 A2 5,788 16,254 210,466
Oog== 108,000& x1& x12& 1,296
agsAal 6,000& »1H 2442 1,464
EEmME=3.] 12,0008 x 1 244 2,928
Oegs 100
307 glztol & 55,000 55,000 0
05 It E = 55,000 55,000 0
OFMNELEY 55,000
401 Al HI L 2T 105,000 53,000 52,000
01 A€ dl 105,000 53,000 52,000
OaelArsSE2+3 At 35,000
OOFAM = IAE NS A 20,000
O 10,000
OO XIoH4=00 & 3 At 20,000
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CHel HAIS XS4 (298 R)
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
||| EEERRNEES 20,000
HESAAL(LSDIIHPHEH) 1,106,762 1,073,707 33,055
ol 2 AHY| 990,542 960,987 29,555
oled 2| 990,542 960,987 29,555
101 @121l 964,562 925,467 39,095
01 24 582,072 566,034 16,038
OJi=2s 389,099
Oz sH 389,099
-53 (302 =2) 3,849,500 x1H x12& 46,194
-2 (162 2) 2,790,000& x2H x12& 66,960
-73(1232) 2,283,200 x4H x12& 109,594
-Jls732(1883) 2,626,200 x1H x12& 31,515
-J|s82 (168 8) 2,266,200& x1H x12& 27,195
-Jls932(1288) 1,854,400& x2H »12& 44,506
-YIA(15EE) 2,630,600& x2H 128 63,135
Oad=2 32,425
odz2x4¢ 389,099,000 *1/12%50%*23] 32,425
O+ 83,697
OAZtA222< 51,232
-HHE 9,383 x13H x10A| 2t*12& 14,638
-x=E 9,383 x13H x25A| 2tx12& 36,594
Oons< 10,680
- B Xt 40,0003 x11H *x12& 5,280
- JIEHDHSE 20,000& *21H x12& 5,040
- Jbak=2 30,0003 *1H x12& 360
O&dIZx=4Itat3 10,680
- 25E 0| & 130,000& *1H x12& 1,560
- 154 0] &~20E 0] 2t 80,0003 »3H x12& 2,880
104 0] &t~154 0] 8t 60,0003 x7H x12& 5,040
- 54 0] &~104 0] ¢ 50,0003 »2H x12& 1,200
OfIga22+Y 480
-23 40,0003 *1H x12& 480
OUes2d=g 2,585
-62UR 2,626,200& x4 1%+x2H x12& 2,585
OSx+g2Y 8,040
-JlsdEsrY 6,120
BeT=1 50,0003 x1H x12& 600
- 6,73 30,0003 x6H x12& 2,160
- 82 20,0003 »3H x12& 720
S JPAZ2 (D= AF) 50,0003 14 =128 600
JbAEZ (I AF) 30,0003 *3¥ +12& 1,080
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JH&EZ2 (AP DIAL) 20,0002 «3H <12 720
a3 (2 ) 20,0002 «1H « 128 240
SRR Y 1,920
HAXNESRR 80,000 «2H 128 1,920
OF A G A 130,000 x 13 «12& 20,280
O E F 0ty 389,099,000% *1/12x60%*23] 38,910
D90k &t
389,099,000 *1/12%86%+*1/30*19 17,661
03 RIAHAZ 22+ 382,490 359,433 23,057
OY=0MSILHS 222 357,490
OJdles 40,8303 15 «250 153,113
o&n= 153,113,000 *1/12%400% 51,038
OxFs=+¥ 40,8303 15«52 31,848
Ogxt=< 40,830 *15H 19 11,637
OF22f==<2 40,830 *1.5x15F+3L 122 33,073
OP == 10,800
- i< Xt 40,0002 x15H « 123 7,200
- JIEHOH S 20,0003 x15H «12& 3,600
OAZ 2R
40,830 *1.5/8+10Al 2t x15H « 12 13,781
Ous&E x| 60,000 x15 122 10,800
OFEFItHI 600,000& *15H x23| 18,000
OF Mg Al 130,000& x15H «12& 23,400
Oo=l 100,000& *15H »23| 3,000
OEMHSYSHATSEZNYI 5,000
[I5CHALE 2 & 17,000
204 MR F | 22,620 22,080 540
02 a2 x4 22,620 22,080 540
L15= 250,000& x1H x12& 3,000
Oé=, oAt 155,000 x4 H «12& 7,440
ara,dls7s 140,000 x5 «12& 8,400
8~9=2,71s89= 105,000 x3H «12& 3,780
303 Z& 3 3,360 13,440 A 10,080
01 243 3,360 13,440 A 10,080
UERotESsE 3,360
=3t 116,220 112,720 3,500
Jl234 116,220 112,720 3,500
201 Let24d] 87,400 75,800 11,600
01 AtR 22l | 87,400 75,800 11,600
EIETES= 1] 20,000
OJZARSSBUIIEH4+ S| 20,000
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